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QUESTION 1

An existing B2C Commerce site has the following aliases configuration: Which statement related to this configuration is
incorrect?
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A. Hostname www example.co.uk will redirect to www.example.com/uk.
B. Hostnamewww.example.comwill redirect to www example com/us

C. Hostname www.example.de will redirect to www.example.com/de.
D. Site supports multiple hostnames and locates.

Correct Answer: B

QUESTION 2

A client has just pushed a new site live to Production. However during smoketesting. It\\'s found that some customers
are not seeing the correct pricing on the Product Detail Page.
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What three places would the Architect begin to look for the cause of this Issue? Choose 3 answers
A. Check Log Center

B. Check the Quota Status page.

C. Check the Global Preferences to be sure the settings are correct.

D. Check that there was not an error during replication.

E. Check that the cache is set correctly

Correct Answer: BDE

QUESTION 3

While validating a LINK Cartridge for inclusion into the solution, an Architect notices that the UNK cartridge
documentation requires the Architect to add a script node to a Pipeline in the storefrontcartridge. The script is also a
valid CommonJS module.

Which approach can the Architect use to Integrate this cartridge into a site that uses Controllers only?

A. Copy and paste the script that is required directly into the Controller, add the appropriatearguments, then execute the
correct method

B. Add the script that Is required via a require statement In the Controller, add the appropriate arguments, and execute
the correct method.

C. Add the script that is required via a Module, exports statement m theController add the appropriate arguments, and
execute the correct method.

D. Add the script that is required via an import$cript statement in the Controller, add the appropriate arguments, and
execute the correct method.

Correct Answer: B

QUESTION 4

An Architect is configuring a data replication schedule.

Which task(s) can be removed In order to reduce replication times?
A. Campaign

B. Static content

C. Storefront URLs

D. Search Indexes

Correct Answer: D

B2C-COMMERCE-ARCHITECT Practice Test | B2C-COMMERCE-ARCHITECT Study Guide | B2C-COMIZERCE-
ARCHITECT Braindumps


https://www.pass4itsure.com/b2c-commerce-architect.html
https://www.pass4itsure.com/b2c-commerce-architect.html
https://www.pass4itsure.com/b2c-commerce-architect.html
https://www.pass4itsure.com/b2c-commerce-architect.html

VCE & PDF https://www.pass4itsure.com/b2c-commerce-architect.html
2024 Latest passditsure B2C-COMMERCE-ARCHITECT PDF and VCE dumps
PassditSure.com  Download

QUESTION 5

During a load test the storefront shows steady but slow performanceon all the paces being tested. The Architect opens
Pipeline Profiler and sorts the data by *total time" column. The following come as the top Ave items: Which controller
should the Architect focus on to further investigate the performance issue?
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A. Product-HitTile as it has the highest hits during the load test.

B. Search Show as this Is one of the key controllers that the customer uses
C. Product-Detail as It has the highest total time and highest maximum time.
D. Home-IncludeHeaderMenu as It has highestaverage time.

Correct Answer: D
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